
Mesure d’un Rectangle (H)

Calculez les mesures manquantes pour chaque rectangle.
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P = 43,38 cm

A = 117,306 cm2

1.

?

?

P = 36,28 dam

A = 66,82 dam2

2.
?

?

P = 119,52 yd

A = 886,464 yd2

3.

?
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P = 101,64 ft

A = 538,5456 ft2

4.

?

?

P = 18,04 m

A = 15,004 m2

5.

?

?

P = 110,52 dm

A = 759,3768 dm2

6.
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Mesure d’un Rectangle (H) Réponses

Calculez les mesures manquantes pour chaque rectangle.
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P = 43,38 cm

A = 117,306 cm2
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13,0 dam

P = 36,28 dam

A = 66,82 dam2
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32,4 yd

P = 119,52 yd

A = 886,464 yd2
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35,76 ft

P = 101,64 ft

A = 538,5456 ft2

4.
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6,82 m

P = 18,04 m

A = 15,004 m2

5.
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29,64 dm

P = 110,52 dm

A = 759,3768 dm2
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